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Instructions: 

• Attempt all the questions. 

• Writing must be neat and clean. 

 

A. Choose the correct option: 

1. How many members are there in the security council? 

a. 5 

b. 10 

c. 15 

2. Which of the following countries was not a member of the League of Nation? 

a. USA 

b. France 

c. USSR 

3.  Which body of the UN comprises all the member Nations? 

a. Security council 

b. General assembly 

c. The International court of Justice 

4. How many countries are members of the UN today 

a. 190 

b. 191 

c. 193 

B. Fill in the blanks: 

1.  is the largest body of the UN. 

2.  The League of Nations had a total of ____ members. 

3. ___________ is the present Secretary General of the UN. 

4. The UN Day celebrated on________. 
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C. Write 'T' for the true and 'F' for the false statements: 

1. International court of Justice settle legal dispute between Nation._____ 

2. Olive branches present in the UN flag symbolise happiness. ____ 

3. World war 1 lasted from 1914 to 1918.____ 

4. UNESCO headquarter is located in Rome.____ 

 

D. Define the following: 

1. Conflict- 

2. Sovereignty- 

3. Abide- 

4. Devastation- 

 

  E. Answer these questions. 

1. Name the main organs of the UN. 

2. Explain the main principles of the UN Charter. 

3. Write about UN flag . 

4. Why did the League of Nations fail? 

5. Describe briefly the achievement of the UN. 

 

F. Assertion and Reason: 

1. Assertion(A) : The flag of the UN has a world map surrounded by olive branches. 

Reason(R) : Olive branches represent peace. 

2. Assertion(A) : The international court of Justice uses two languages. 

Reason(R) : These languages are Hindi and English. 

 

(a) Both A and R are true and R are the correct explanation of 

A. 

(b) Both A and R are true and R is not the correct explanation 

of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 

 

 


